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3.491 x 100000 = 6.276 x 100 =
8.633x 10 = 5377x 10 =

1.14 x 1000000 =

5.953 x 1000 =

1.745 x 1000000 =

1.659 x 1000000 =

3.969 x 1000 =

3.112 x 1000 =

8.725 x 10 =

7.012 x 100 =

10.044 x 1000000 =

2.945 x 1000 =

2.61 x10=

5982 x 10 =

4.206 x 10000 =

6.983 x 100000 =

1.74 x 100 =

4.616 x 100 =
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3.491 x 100000 = 349100

8.633 x 10 = 86.33

1.14 x 1000000 = 1140000

5.953 x 1000 = 5953

1.745 x 1000000 = 1745000

8.725 x 10 = 87.25

7.012 x 100 = 701.2

10.044 < 1000000 = 10044000

4.206 x 10000 = 42060

6.983 x 100000 = 698300
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6.276 x 100 = 627.6

5377 x 10 = 53.77

1.659 x 1000000 = 1659000

3.969 x 1000 = 3969

3.112 x 1000 = 3112

2.945 x 1000 = 2945

2.61 x 10 = 26.1

5.982 x 10 = 59.82

1.74 x 100 = 174

4.616 < 100 = 461.6
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